Torts Outline – Fall 2008

I. Introduction

a. Robertson v. Rochester Box

i. Rochester Box used Robertson’s picture for advertising on their flour container w/out her permission. Ppl recognized her and she sued for invasion of privacy and emotional distress. 

ii. Crt would not rule for P b/c there was no precedent and they wouldn’t start one now.

iii. Today, if a picture taken is newsworthy you would not win if you brought suit. 

b. Forms of Action

i. Scott v. Shepherd

1. Shepherd threw Squib (firecracker) into a crowded area, two other people threw it after it landed in front of them. The last person to throw it ended up throwing it in a way that it blew up in Scott’s face causing injury.

2. Crt torn on who is to blame, majority held that the other two were an extension of Shepherd’s original throw therefore Shepherd was still held to trespass.

3. Important thing is causation, not intentionality 

ii. Thorns

1. Thorns fall on persons land, and he went to get them off

2. Crt ruled that if a man assaulted him and he lifted up his staff to defend himself and as a result battered another person, trespass lies.

3. Doesn’t matter how justified your action was, you are still strictly liable

iii. Weaver v. Ward

1. Man in military was in a skirmish and accidently fired his gun and injured P. 

2. Crt held that trespass still lied unless they could show absolute no fault on part of D. (Which in this case they couldn’t so D held liable)

3. Circumstances are irrelevant, if there is an injury you are responsible unless absolute no fault

4. Even involuntarily walking onto someone else’s land, still liable for trespass

5. Even if it was an accident you are still liable 

6. i.e. if you did it, you are responsible

c. Emerging from the Forms

i. Brown v. Kendall

1. Brown and Kendall each had a dog who started fighting. Kendall grabbed a stick and began to beat the dogs to get them apart. During the beating, Brown, who was out of the range of the stick, stepped forward, then Kendall backed up a few paces and when he swung the stick back, it hit Brown in the eye.  

2. P must show that D was committing an intentional tort and was acting negligently. Burden of proof on P. D only had to use ordinary care.

3. Start of negligence torts

                                                    Plaintiff
·                                         Neg               ordinary care

· Defendant                               

· negligent                            1.D wins                2.pg. 26 -D wins; pg. 28-P wins       

· ordinary care (not neg.)     3. D wins               4. D wins

· Pg. 26 – defendants instructions       

· pg. 28 – appellate judges instructions                                   

· Box 4 is the fundamental law of negligence. If everyone is careful, then the defendant wins bc everyone was careful. 

II. Intentional Torts

a. Elements: 1) act, 2) intent, 3) causation

b. Act

i. Must be voluntary

c. Causation 

i. Has to be the cause of the injury

d. Damages – don’t have to HAVE, would get nominal damages b/c of legal wrong done to P (even if not injured) if injured could get other damages too.

e. Intention

i. Single intent – majority view; only need to show the defendant had intent to cause contact; not the intent to cause harmful/offensive contact

ii. Dual intent – minority view; need to show defendant intended to BOTH cause contact and the contact to be harmful/offensive

1. White v. Muniz

a. Did not have dual intent, insanity negated intent to do harm therefore crt entered judgment for D.

iii. Intent (in general)

1. A person acts with the intent to produce a consequence if: 

a. The person has the purpose of producing that consequence; or   

b. The person knows to a substantial certainty that the consequence will ensue from the person’s conduct

i. Ex. case: Jackson v. Brantely pg. 35

1. Defendant’s bridled two of their four horses and proceeded to bring all 4 (2 unbridled ones following) to the highway. Plaintiff’s headlights startled the horses and the two unbridled horses bolted resulting in the plaintiff’s hitting one of the horses and killing it. 

2. The state statute 3-5-3 imposed liability on the owner of livestock for torts which are intentional (willful, purposeful, etc). 

3. Crt said that D intentionally put the horses on the highway and knew from past experiences that the horses would be scared by headlights.

2. Substantial certainty test – defendant intended the act that caused the injury and knew that the injury was substantially certain to occur from the act, then defendant has committed an intentional tort

a. Substantial certainty limits: limited to situations in which the defendant has knowledge to a substantial certainty that the conduct will bring about harm to a particular victim, or to someone w/in a small class of potential victims w/in a localized area –must be award

b. Ex. case: Beauchamp v. Dow pg. 38 

i. Plaintiff was a research chemist for Dow. He applied for workers’ compensation benefits alleging impairment of normal bodily functions caused by exposure to “agent orange.” 

ii. Rule – Substantial certainty test – employer new w/ substantial certainty that exposure to agent orange would cause harm

iii. Today Workers Comp Act is the only way for employees to recover for injury on the job

3. True intentional torts test – the defendant truly intended the injury as well as the act

4. Substantial likelihood test – broader than certainty, includes a lot more – person intended the act and the injury was relatively likely to happen

iv. Transferred intent

1. Commit the same tort against a different person

2. Commit a different tort against the same person

3. Commit a different tort against a different person

4. Examples:

a. intent to batter A, but batter B

b. intent to assault A, but batter B 

i. Brown v. Martinez (see below)

c. intent to assault A but assault B

d. intent to batter A, but assault B

e. intent to assault A, but batter A

f. Ex. Singer v. Marx

i. Parents not vicariously responsible for the torts of their children, they are only responsible for negligence on their part to prevent the tort from happening if they know of it. (Batter - Batter)

f. Battery & Assault

i. Assault – intent to cause imminent apprehension of a harmful/offensive contact

1. Assault is the intentional apprehension of an imminent harmful or offensive contact. The elements required for assault are 1) an act; 2) intent; and 3) the apprehension of offensive or harmful contact.

2. Apprehension – not fear

3. No touching involved

4. Ex. Masters v. Becker

a. Words do not constitute assault unless they are together w/ other acts or circumstances

b. Child 

5. Primae facie – act, intent, causation – do not need damages!!!

6. There’s assault if there’s battery always AS LONG as they saw the battery coming

7. Intent – could be intent to batter but fails or just intent to frighten (and a reasonable person would apprehend this ac a battery)

8. Transferred Intent – if D tries to frighten X but frightens P also thereof – he is liable to P even though he didn’t intend to frighten P in particular, just X

9. Apprehension – P must be aware (cant have his back turned) (D shoots at P but misses and P finds that out later = no assault)

10. Must be apprehension for yourself not a loved one (D shoots at P’s daughter and P sees this = No assault)

11. Don’t have to apprehend a battery can apprehend anything– (ie - fake tarantula)

12. Other Assault Rules – Words alone can’t constitute an assault. although even a small overt act will suffice (i.e. raising his fist- jumping out of a car)– 

13. Test Strategy – say that he did not fear being hurt, then argue that apprehension is not the same as fear (just aware that he may get battered)

ii. Battery – intentional infliction of harmful/offensive contact to the plaintiff’s person (to a reasonable person)

1. Battery is the intentional infliction of a harmful or offensive contact. The elements required for battery are 1) an act; 2) intent; 3) a harmful or offensive contact.

2. Act

a. Must be voluntary

b. Must be harmful or offensive to a Reasonable person standard 

i. Brozska v. Olson

3. Intent

a. Must intend the contact

b. Masters v. Becker – child intent – she did intend the act but not necessarily the harm

4. Causation

5. Necessary intent is either an intent to cause the harmful/offensive contact or an intent to put the other in imminent apprehension of such contact

a. Ex. Brozska v. Olson


i. AIDs dentist

ii. Risk of transmission of AIDS so minute that any fear of contracting it was unreasonable

iii. Not harmful or offensive contact unless you Know that the other person would find it harmful/offensive

b. Ex. Dickens v. Puryear

i. P having relations with D teenage daughter. D beats up P and threatens to kill him. Statute of limitations ran for the actual beating, but the threat of death still “in effect,” so crt ruled that it was an intentional infliction of emotional distress.

6. Intend to assault you and I actually touch you w/ offensive/harmful contract is still Battery

7. Reasonable person standard – except if a person knows that they have a fear of being touched or something like that

iii. Other Battery Rules

1. Informed consent – if doctor fails to get consent when he is able to, he is liable for battery

2. Mechanical devises = battery unless prop owner had a privilege (electric shock on anyone who touches his car)

a. Even if you did not contact them personally, if you set up a device to injure someone then liable for battery

3. Malpractice – dr must get consent (when able), if don’t, then battery

4. Defend himself from an attack but uses excessive force = battery for the excessiveness

5. Exceed your privilege: Attack someone you think is an intruder but is really the mailman = battery

6. P need not be aware i.e. kissing while you are asleep -(as opposed to assault)

a. Can NOT assault while you are asleep, but you can batter

7. Consent is the big arguing point and the main defense - (argue they did or did not have it and then argue the reasonable person)

8. There’s assault with battery as long as they saw the battery coming

iv. Cannot use a consent defense in a fight b/c you cannot consent to a fight and thus both tortfeasors will be liable to each other for whatever damages they cause (unless the blow is out of proportion)

v. Defense is the best defense – It only works if you are not the initial aggressor and not defending the initial aggressor

g. Trespass to Land

i. Trespass to land is the intentional unauthorized entry onto the land of another that constitutes an interference with private use of one’s right to their property. The elements to trespass to land are 1) an act 2) intent 3) physical invasion.
ii. Intentional unauthorized entry onto land of another (interfere with the private use of one’s right to their property)

iii. Difference btwn mistakes and accidents

1. If I walk into your house that I mistakenly thought was mine, I have committed trespass 

2. If someone pushes me onto your yard, that is an accident and not a trespass

iv. Privileges – invited people (if u don’t have a sign posted, anyone is welcome to come knock on your door)

v. Trespass – someone who invades your property in the sense of keeping you from the sense of exclusive possession of your property

vi. Not necessary requirement of proof of damages

vii. Necessity is a defense!

viii. Private Nuisance – not exclusive possession, but a question (pg. 59) of the right of quite use and enjoyment of my property

ix. Intent – intent to enter the land, not intent to harm P or his land in any way
1. If D knows w/ sub certainty that he is entering (or causing an object to enter) P’s land then the intent requirement is met. (particles from a factory = trespass even if he doesn’t desire it)

2. Mistake to enter onto the land makes no difference still argue mistake just so you can say it doesn’t apply – if he mistakenly believes he is authorized; s = intent (thinks he’s going on X’s property but goes on P’s – still = trespass) - 

3. Remember that necessity can defeat this – so use this as a defense always!!!
x. Private Nuisance – occurs when D had caused a non-trespassory substantial and unreasonable interference with the P’s use and enjoyment of his land

xi. T-Land Rules - 

1. Your entitled to at least some air space (only trespass if P’s enjoyment of his own land is interfered with.

2. P can win nominal damages even if no harm was done to his land (thus damages are not needed)

3. Trespass ab initio - Even if D is authorized to be there, if he’s asked to leave by P and doesn’t = trespass

h. Trespass to Chattels & Conversion

i. Trespass to Chattels (property)

1. Trespass to chattels is the intentional interference with another’s use or possession of a chattel, resulting in damage to the chattel. The elements required for trespass to chattel are 1) Intent; 2) Interference; and 3) Damages. 

2. Intentional interference with another’s possessory interest in a chattel, resulting in damage to that interest.  (chattel – moveable property)
a. Primae Facie – Intent (to perform the act), causation, Damages

3. Intent – all that is needed is intent to take possession or other wise affect that chattel

a. Mistake that the chattel is another’s or belief to the right to it is irrelevant

i. D thinks its his umbrella

ii. D is a creditor and mistakenly believes he has a right to repossess p’s car

iii. X sells D a stolen car – D is still liable to P for T/C (both seller and buyer exercised dominion over the chattel)

b. Accident – if D hits P’s car in accident then this is not T/C

c. Right to possession – Even if D realizes his mistake and brings P’s car back – P may still recover damages b/c his right to possession was affected.

4. Dispossesion or interference with another’s property

5. Intentional interference w/ another’s property that prevents them from being able to fully enjoy the property

6. Damage is usually for the value of the property before it was trespassed

a. If you destroy the property, the damages are the same as in Conversion

7. D mistaken belief that he had a right to trespass to your chattels is not a defense
8. If after you demand your chattel back but the person does not give it back, you have a right to break in and get it back. Not liable for reasonable damage in doing so. You can use reasonable non-deadly force to try and get it back if they resist you.

ii. Conversion – §222a - When the D so substantially interferes with the P’s possession or ownership of goods that it is fair to require that the D pay for the property’s full value.  Occurs when D takes possession of the chattel with the intent to interfere (thus if you buy stolen goods = conversion)

1. Conversion occurs when the defendant so substantially interferes with the plaintiff’s possession or ownership of goods that it is fair to require that the defendant pay for the full value of the item.
2. Factors:  Duration of D’s dominion over P’s property (if its 3 months its probably conversion)

a. D’s good faith or bad faith (if it was a mistake it will be good faith though its still T/C)

b. The degree of harm to P’s property (takes car on 10 minute joyride and gets into a fender bender = no T/C)

c. The inconvenience and expense caused by P

3. Taking something an taking all the value away; you devalue it in some way

4. If someone exercise such control that the property then comes under the power their power, you can sue for the value of the property (just as if they had destroyed the property)

5. Refusing to surrender a chattel on demand

iii. Other rules - 

1. P can always elect to only get T/C damage money even if the facts support conversion

2. The mkt value is the sole measure of damages – it doesn’t matter if D received benefit from or damaged the chattel

i. Intentional Infliction of Emotional Distress

i. An act that causes severe distress regardless of whether a visible threat was made

ii. Extreme and outrageous conduct

1. Ex. Threatening language by bill collection, insults in public, etc.

iii. See Dickens v. Puryear above

j. Defenses

i. No intent

ii. Insanity (note: really negated intent, not an affirmative defense)

1. White v. Muniz

2. The insanity defense is in fact a denial that the plaintiff has proven an essential element of his claim, i.e. that the defendant intended to batter the plaintiff (really negated intent, not an affirmative defense) 

3. Not an affirmative defense – didn’t have the requisite intent in the first place, therefore they could not be an intentional tort

iii. Consent

1. The consent must be to the invasion itself and not merely to the act which causes it

2. Express consent – verbal, written, or gestures in some way to show consent

3. Implied/Apparent Consent – whether or not a reasonable person would think that consent happened (by conduct or custom)

a. Hellriegel v. Tholl

i. Boy playing w/ friend by lake. He claimed that no one could throw him in so three friends tried to. One slipped and fell on boy’s neck paralyzing him.

ii. Crt held that boy consented to the horseplay, i.e. implied consent. Ppl who consent to horseplay consent to accidents that may occur. While there was a batter (the offensive contact) it was consented to therefore no recover for P. 

iii. **Can argue that it exceeded the consent given.** 

4. Implied in law – what is necessary to save a life or other important interests- mostly medical

a. Consider: is the P unconscious or otherwise unable to consider the matter; is an immediate decision necessary; no reason to believe that P would w/hold consent if he were able; a reasonable person in the P position would consent

b. Medical consent

i. Mulloy v. Hop Sang

1. Hop Sang told Dr. Mulloy not to take off his had b/c he wanted his own doctor to see it. Dr told Hop that he would have to see after they got him into surgery. In surgery Dr determined that the hand had to come off.

2. Crt held that Hop was entitled to trespass b/c he told the doc not to take the hand off.

5. Defenses to consent (or voids consent) – it exceeded the consent given (Lane v. Holloway), obtained by fraud or duress, mistake, incapacity to consent, consent to a criminal act 

a. Consent to a specific aliment – if come in for appendicitis and they find tumor and take out too, that is not ok b/c you didn’t consent to the other thing!

b. Can’t consent to a fight, both are tortfeasors will be liable.

iv. Self defense

1. Can use reasonable non-deadly force if you think you are going to be harmed (pg 87)

a. No duty to retreat from using non-deadly force

2. Can use deadly force if in fear of death or serious bodily harm or someone intruding into property (home)

a. Duty to retreat unless defending home or attacked in own home

3. Affirmative defense – cannot recover unless the blow was out of all proportion to the occasion

a. Lane v. Holloway


i. Old man calls neighbor’s wife a monkey faced tart. Husband comes over to old man (P). P punches D in the shoulder. D punches P in the face causing severe injury to P.

ii. Crt. Held that D used savage force that was beyond the amount of force necessary.

b. Silas v. Bowen pg. 84

i. P goes with friend to parking lot to get car fixed by someone not employed by the lot. Come back to find the car not fixed. P confronted D, D told P to leave. Altercation btwn the owner of the lot (D) and P. D shots P in the foot.

ii. Rule: Sec. 65 of Restatement adopts that resort to deadly force cannot be justified if retreat is possible unless the defender is attacked w/in his own dwelling or is defending his own dwelling against intrusion or dispossession. 

iii. Crt held that D acted in reasonable apprehension of serious bodily harm. Judgment for D.

v. Defense of property

1. CanNot use deadly force to protect property

2. You can threaten to used greater force as long as you only cause apprehension and do not actually use deadly force

a. Brown v. Martinez

i. Boy and friends go into D’s yard to steal watermelons. D sees two boys on one side of yard so shoots gun in the other direction to scare boys away. Shoots boy hiding on that side, injuring him.

ii. Crt held that you cannot use deadly force to protect property. Judgment for P. 

iii. Transfer intent as well – tended to assault the other kids but battered the boy

vi. Discipline

1. Generally parents, military, and schools can assault and batter b/c necessary in molding child/soldier (i.e. spank, not beat)

vii. Necessity

1. Public necessity

a. Government can take your property when there is a serious danger to many people (i.e. a fire, can destroy your home to save the others)

b. Generally recovery is not possible

2. Private necessity

a. When there is a serious danger to D only or just a few people (emergency plane landing)

b. Privilege to enter land or interfere w/ chattels where it appears reasonably necessary to protect any person from death or serious harm or to protect land or chattels from injury

c. Harm prevented must exceed the harm caused by the invasion

d. Generally recovery IS possible

i. Ploof v. Putnam

1. During storm plaintiff (Ploof) bring ship to defendants deck to dock to prevent damage and loss of life. Defendants servant unmoored the sloop and pushed the plaintiff and family into the lake upon which they received injuries. 

2. Crt ruled that the doctrine of necessity applied w/ special force to the preservation of human life. i.e. judgment for P.

3. Ok to trespass if emergency

ii. Vincent v. Lake Erie Transport

1. Lake Erie moored ship to plaintiffs dock during a storm and continuously kept tying down the ship to prevent it from drifting away. B/c of this, the dock as severely damaged at $500.

2. Crt held that where the defendant prudently and advisedly availed itself of the plaintiffs’ property for the purpose of preserving its own more valuable property and the plaintiffs are entitled to compensation for the injury done. 

3. No trespass but must pay for the dock

4. Ok to trespass but you have to pay for damages

III. Negligence

a. Prima Facie case – duty, breach, causation (in-fact and proximate), damages

i. To show that D is liable for negligence, we need to show: 1) a duty; 2) a breach of that duty; 3) causation (both cause-in-fact and proximate cause) and 4) damages. D had a duty to behave as a reasonable person under the circumstance. In this context, this means ___. In this case, D was ___, and therefore, not behaving as a reasonable ____.
b. Duty

i. Generally two classes of duty:

1. Class 1:  Those who do nothing (i.e. act reasonably) (nonfeasance) owe no duty

a. Exceptions:

i. Special Relationships (see full list on p.464)

1. Common carrier

a. Protect passengers against unreasonable risk of physical harm, and

b. Give first aid after they know or have reason to know that they are ill or injured, and to care for them until they can be cared for by others.

2. Innkeepers – same as above

3. Possessor of land who holds it open to the public –owe similar duty to members of the public who enter in response to his invitation

4. One who is required by law to take or who voluntarily takes the custody of another under circumstances such as to deprive the other of his normal opportunities for protection is under a similar duty to the other.

a. Parent –child

b. Jailor –prisoner

c. Hospital –patient 

d. Employee-employer

ii. Special relationships to perpetrator

1. Therapist –patient

2. Councilor –student 

a. Eisel v. Board of Education…(above)

3. Tarasoff
a. X tells therapist that he is going to kill a specific person. Therapist doesn’t tell anyone. X kills that person. Therapist liable.

b. Rule: Duty to warn if there is a special relationship and a identifiable third person

iii. Innocent creation of risk

1. D innocently cause the person peril and you have a duty to aid

iv. Failure to aid

1. If you voluntarily take the aid of another, you have to exercise reasonable care 

a. You can abandon you the rescue as long as you do not leave them in a worse condition

b. Farwell v. Keaton
i. Boys follow girls, one gets beat up, the other drives around then drops beat up boy off at grandparents. 

ii. Pg. 473 –see notes! (pg 120 of notes)

2. Good-samaritan law pg. 504 – exempt you from negligence but not gross negligence or intentional torts

v. Owners and occupiers pg 508

1. Trespassers

a. No duty, just can’t willfully/wantonly injury or intentionally harm them

b. If you know of constant trespassor, you have a have a duty to warn of unknown dangers to them

2. Licensees

3. Invitees

4. Attractive Nuisance
a. Duty to protect against attractive nuisances towards children!

b. Have to know that it is a place where children are likely to go or trespass

c. Have to know or reason to know that condition is dangerous 

d. The risk of harm to children outweighs the burden of getting rid of the nuisance 

e. Tends to be pools, structures

5. Three Different Tests for T, L and I:

a. Mutual/economic benefit test – three categories:

i. Trespasser – a person who came w/out permission - only owed a duty from not intentionally injure them

ii. Licensee – a social guest – protected against willful and wanton negligence

iii. Business invitee – came w/ an express or implied invitation and for the mutual economic or business benefit of the property owner. He can expected the premises to be made reasonably safe for him.

b. Invitation test: (majority use this) 

i. 1. An invitee is either a public invitee or business visitor.

ii. Business Invitee - mutual benefit to both parties – a person who is invited to enter or remain on land for a purpose directly or indirectly connected w/ business dealings w/ the possessor of the land.

iii. Public Invitee – a person who is invited to enter or remain on land as a member of the public for a purpose for which the land is held open to the public

iv. Owe both a duty of reasonable care

c. Non-test:  

i. Use the reasonable person standard –The possessor of land managed his property as a reasonable man in view of the probability of injury to others would.

2. Class 2: Those who create risk by doing something (i.e. are negligent)(misfeasance) owe standard duty of care to others that may be foreseeably injured by his action.

a.  Exception: Immunities – SANDERS DOESN’T WANT TO SEE THESE AT ALL ON EXAM!!!!!!!!!!!!!

i. Government/State Immunity 

1. State is traditionally immune (sovereign immunity)

2. Governmental v. proprietary functions

a. Governmental functions – enjoined on municipality and governmental functions undertaken (can’t sue)

3. Proprietary – functions that a municipality may, in its discretion perform (can sue)

4. Many states, including Texas, have the distinction between government that is conducting governmental functions vs. proprietary functions

a. When the government is acting with respect to proprietary function there is no immunity

b. Proprietary Rule: When a municipal corporation acts in its private capacity and not as an arm of the government and for benefit of its own people they are not immune; proprietary = something the city doesn’t have to do

5. Parts have been abolished by setting forth statutes enabling people to sue

a. Tort claim statutes – allows individuals to sue the state when the state torts them, but discretionary exception – if engaged in discretionary activity and you feel they botched the use of their discretion, too bad for you

b. 2680 – examples of non-suits

6. Mandatory vs. Discretionary Function of an Agency

a. Agency exercises discretion – immune from law suit

b. Only when they have a mandatory obligation that they have failed to perform can they be sued

7. Ferris v. US – People in the military cannot sue for injuries arising from their service

8. Government is immune from torts of employees – including intentional torts – except for some law enforcement actions

ii. Charitable Immunity

1. At one time all charities were immune – immunity is making a comeback.

a. 84.004 – volunteers only liable for gross negligence

b. 84.005 – employee liability – caps damages ½ million max

c. 84.006 – organizational liability – same as employee liability above – caps damages ½ million max

2. In Texas, charitable immunity now doesn’t bar recovery but caps it (limited liability). Is this a good rule?

iii. Parental Immunity 

1. Immunity applies to parental negligence but not to intentional torts (abuse).

2. Parents have some privileges - discipline in intentional torts prevents you from being liable for battering the kid when you spank him. However, parents are not immune from abuse. But ordinary negligence by parents are immune.  

3. Mothers responsibility for failure to engage in prenatal care thereby injuring fetus. Immunity?

4. In TX no immunity in auto accidents and if child is injured when working for the parent

iv. Spousal Immunity 

1. Has been abolished in a number of states. Some jurisdictions have saved interspousal immunities for everything but car accidents.

2. Texas abolished spousal immunity in automobile accidents where there is physical harm (including physical mental harm). This is done so that they can make insurance claims. 

3. It’s difficult to abolish immunity all over because then it flows over to family law. People can then sue their spouse for negligent activities during marriage and then affect divorce proceedings in family court. 

3. Permissive duty (vicarious liability)

a. Under vicarious liability, a third party is held liable for the tortfeasor’s negligent actions.
b. If you let someone use something of yours, you accepted liability for their negligence when using it

i. i.e. if I let you borrow my car, and you drive negligently, I am responsible for that negligence as well

c. Breach

i. Reasonable person standard

1. Everyone owes a duty to act as a reasonable person would under the same circumstances

a. Don’t expose others to unreasonable risk of harm

ii. Variations:

1. Children

a. Held to a standard of care that would be expected of a reasonable person of similar age and experience

b. Exception maybe when engaged in adult/hazardous activities (ex. skiing)

i. Charbonneau v. MacRury pg 117

1. Minor D driving car, hits minor P. D held to a standard of care of child

ii. Goss v. Allen

1. D minor skiing on beginner’s slope. Hits minor P. 

2. Trial and Supreme Crt held that child standard held but Appellate Crt thought that since minor was involved in an adult activity, adult standard should be used.

2. Physically disabled

a. Held to standard of care of reasonable person w/ that disability

i. Haley v. London Electricity Board

1. Blind man walking on sidewalk like he did everyday fell into hole not adequately protected for a blind person to see and as a result of fall became deaf.

2. Crt held that D should have used reasonable care in anticipating a blind person may fall into hole, thus they were liable.

3. Experts/professionals

a. Held to a higher standard of care of a reasonable person w/ their expertise 

i. Brown v. Shyne  pg 163

1. Chiropractor paralyzing P

ii. National standard (see these below in malpractice)

iii. Same or similar locality

iv. Strict locality 

4. Emergency

a. Held to a standard of care of a reasonable person in that circumstance (can be a lower standard than normal)

iii. Learned Hand formula (calculus of risk) – used to determine if D has met required standard of care - IF POSSIBLE PUT THIS IN!!!!!!!

1. B <P*L (b=burden of preventing injury; P=probability of injury; L=injury/damage)

a. U.S. v. Carroll Towing Co.

i. U.S barge “Anna C” broke loose from her moorings and collided with a tanker and sunk losing her cargo of flour owned by the U.S. At the time the barge’s bargee was not present and had been gone for 21 hrs. when the accident occurred.

ii. Rule – learned hand formula – the burden of having a bargee there was less than the probability and damage, therefore there should have been a bargee there.

b. Helling v. Carey pg. 194

i. Women w/ glaucoma – crt held that the burden of testing it was so minor and the benefit of finding it so great that even if the custom was not to test it, they should

iv. Negligence per se

1. Violation of statute – automatically negligent if that was the type of injury and type of person/class the statute was trying to protect; and doing more than just codifying the common law!

2. To prove that someone is negligent per se, P needs to show that 1) the statute added additional safeguards above that in the common law, 2) that P was the type of person that the statute was designed to protect, 3) the injury was the type of injury that the statute was designed to prevent, and 4) violation of the statute caused the injury.

3. Alternative way to find fault!

a. Martin v. Herzog pg. 158

i. Car driving on the wrong side of road and hit buggy (who did not have lights)

b. Tedla v. Ellman pg. 169

i. P walking on wrong side of highway and got hit and killed. 

ii. Crt held that even thought the statute was in place to walk on the right side, it made more sense to walk on the left side b/c of all the traffic, etc. 

iii. D an produce evidence that they were acting reasonably by violating the statute

4. ANSWER all three questions!

5. Did the ordinance create an additional safeguard beyond the common law?
6. Was this the type of harm, the class of person, and the cause of the injury?

7. Any of the excuses apply?

a. Incapacity 

b. Lack of knowledge 

c. Inability to comply 

d. Emergency not of your own making

e. Compliance poses greater risk than violation  
v. Custom 

1. Encompasses not only the unwritten but generally prevailing practices in a community or industry, but also trade rules or standards that have been explicitly adopted by a particular profession or industry

2. Just b/c it is an industry standard doesn’t mean it is a good standard. 

a. Dempsey v. Addison Crane Co pg 182

i. Ill contrasted crane apparatus broke and allowed heavy box to fall on P injuring him severely

ii. Crt held that the fact that a particular apparatus or method is used by the industry does not mean that it ought to be done. Held that the jib and boom were unsafe and the use of it constituted negligence.

vi. Malpractice

1. Strict locality standard

a. Standard of care observed by physicians of ordinary skill in D locality

2. Similar locality standard

a. Standard of care observed by physicians of ordinary skill and care in either the D-physician’s locality or in a similar community

3. National standard

a. Standard of care not tied to a particular geographic location 
b. Even though it is called national test, one should not read the national test that everyone everywhere will be held to the same test.

c. The national stds still subjected to regional variations, each w/ sets of their own stds, so its not truly national.

4. Shilkret v. Annapolis Emergency Hospital Ass. Pg. 186 (all three rules talked about)

5. Four things need to have:??????

vii. Res ipsa loquitor

1. The thing speaks for itself

2. Does not shift burden, just gets you past summary judgment

3. Not an alternative way – just a way to get around lack of evidence when there are situations where the accident could only have occurred if there was negligence

a. Walking by window and a chair hits you in the head and you see ppl standing at the window 

i. Res ipsa? Chairs don’t normally fly out windows unless someone threw it, i.e acted negligently

4. Elements of RIL – whenever there is no direct evidence as to whether D was negligent

a. No direct evidence of negligence – so if there is any evidence that shows what caused the accident res ispa will not be used

i. Thus if the facts tell you that all possible care was used – don’t use RIL

ii. If airplane crashes but it was found that a defective altimeter was probably the cause – don’t use RIL

iii. If the fact show what D did in detail and the ask if it was reasonable care – don’t use RIL (we only use when we need to infer what he did)

b. Event has to be one that normally does not occur w/o some negligence (not never occurs, just usually doesn’t occur)

c. Exclusive control - D must be the only one whose neg could have caused the event (ie when it’s a hotel chair thrown out – it could be a guest)

5. Effect of Res Ispa - 

a. Burden does not shift to D; or at least the crts don’t openly admit to that (some jurisdiction say it does)

b. Usually to permit an inference that D was negligent, even w/o direct evidence

i. When res ispa is met, P has met his burden of production and is entitled to go to the jury

6. Context in which it will be on the exam – 

a. Product is grossly defective and the suit is brought in negligence rather than strict liability – Wouldn’t apply to SL

b. Examples:  Food with foreign objects in it, exploding bottles – there must be no direct evidence that showed the cause of it

i. Airplane mysteriously crashes

ii. P gets surgery and someone leaves a clamp in or takes off the wrong limb (or some other mysterious injury)

7. Other RIL rules - 

a. Only used as evidence of negligence – thus if brought in strict liability, don’t use RIL in SL all you need to prove is there was a dangerous defect and the manufacturer did not use due care

b. Point out that the doctrine is to produce enough circumstantial evidence to reach a jury – D can come up with evidence to show that he was careful or that someone else/thing caused the accident

c. Directed Verdict - 

i. If the defendant could produce enough evidence to defeat res ipsa – then could get a directed verdict (b/c res ispa inference is all they have)
1. But it has to be “enough” evidence since the D is the one with the better opportunity to explain, to overcome the RIL raised by the P

d. OVERALL – very unlikely that the plaintiff or the defendant will get a directed verdict in a res ipsa case

viii. Negligence Infliction of Emotional Distress
1. Generally there is no duty of due care to prevent emotional distress on other

2. Only places you may have it is a parasitic claim (i.e. brought w/ another neg. claim), emotional distress from battery, or as a bystander 

a. Argue only as a parasitic claim of your own intentional tort or as a bystander

b. Must also be foreseeable

d. Cause in Fact

i. But-for (majority of the time its this test!) – if doesn’t work/uncertain, go to other tests below

1. Cause-in-fact is normally established with the but-for test. Here, but for ____, then ___.

2. But for this act, this injury would not have occurred

3. Daubert v. Merrell (not in book) – Expert Testimony
a. Sometimes you need the expert testimony to show that something is a but-for cause

b. General acceptance test (Frye test) – widely accepted in industry – then u can admit that as expert testimony

i. Which asked the courts to determine whether the scientific evidence was generally accepted in the relevant scientific community. ex – do most ppl in that area of expertise buy into that view?

c. Meets the standards of reliability and relevance (Daubert test)
i. Non expert – must be relevant to what they are trying to testify about

ii. Expert – reliability 

1. Daubert’s 4 things to consider when deciding whether or not to admit expert testimony:

a. Falsifability /testability – have we tested the hypothesis and what are the results 

b. Error rate

i. 1 and 2 ask the judge to look at the data himself and decide

c. Whether the expert has gone through peer review and publication (is there literature on the issue)

d. Frye test – i.e. general acceptance

i. The last two (3and4) – idea is that the judge has to take the opinion of others

ii. Substantial factor (only go to these if but-for doesn’t work!!)

1. Was this act a substantial factor that brought about this injury

a. Kingston v. Chicago & NW RR Co - 2 Fires case – two fires merge and damage P’s property -  (it would’ve failed the but for test b/c doesn’t get anywhere in assigning the blame, both would’ve resulted in the same things i.e the P property being destroyed)

b. If one of the acts was an act of god, argue that D should not be liable

2. Injury cannot be a possible cause but a probable cause

a. Did glass cause cancer? Possible but not probable

iii. Alternative Liability (Summers v. Tice)

1. Hunting party, 2 people shooting and 1 injury to P. I don’t know which one shot me. So then, the burden shifts to D to prove that they didn’t do it

2. 1 injury, 2 possible causes ( burden shifts to Ds to show they weren’t responsible (and thus which one was the responsibly party).

3. Applies only if both D are negligent
4. D’s had to commit the same act (equal chance they are both at fault) and there is no way to tell who did it

5. Only one, indivisible injury to P

6. Must sue EVERY D 

7. Burden shifts to Ds to absolve themselves of the negligence  

iv. Loss of Chance

1. Someone goes to a doctor, and he is negligent, and now instead of 39% chance I only have 25% chance to live

a. Recovery only if you had a > 50% chance of recovery originally, then get full damages (this is Texas’)

b. Entitled to loss of chance (increased probability of dying):

i. (# of deaths at stage II - # of deaths at stage I)/ # of deaths at stage II

ii. Ex. Above (75%-61%)/ 75% = % of damages you get of the amount you would’ve gotten total

v. Group Liability (Market Share theory, see below)

1. Substitute for cause-in-fact – can use this to assign liability 

e. Proximate Cause (should you legally be accountable for that?)
i. For D’s actions to be the proximate cause of P’s injuries, P injury/act that lead to injury must have been foreseeable. 

ii. Answer

1. Was the injury foreseeable?

2. Any intervening/superseding causes that would cut off liability?

iii. Direct test – Polemis
1. If the D act was the direct cause of the injury no matter if it was unforeseeable, and the D act was negligent, the D is liable for all consequences that result from it

2. Polemis – benzene barrels leaked in bottom of ship, when trying to lift up, D knocked board into the hole igniting a fire.

iv. Forseeability/scope of risk

1. Has to be the type of injury, but not the same method

a. Lord Advocates
i. Kids playing in manhole, lamp fell in and kid got burned. Burning foreseeable even if method wasn’t foreseeable

b. But see Doughty case for exception on method

i. It was the type of injury – acid splashing into eye, but the method, the lid falling in and then a few min later exploding was not foreseeable. Time laps and outside possible zones of danger

2. Within danger zone (Palsgraf)

a. Zone of danger – an area in which you have to foresee injury

b. Palsgraf – fireworks exploding, hit P, but P outside the danger zone, not foreseeable b/c she was outside the zone of danger 

3. Liable even if injuries to greater extent

a. If you are very fragile and I punch u in the face foreseeing a black eye, but really you break they skull, still liable

b. If you are in a car accident and then the ambulance is in an accident, you are liable for that second injury unless it is something bizarre

4. Doesn’t have to be likely or probable to occur (just foreseeable, Wagon Mound II)

5. Cases:

a. Polemis

i. Liable no matter how unforeseeable 
ii. Injury does not have to be foreseeable at all, if it is the direct cause, you are liable
b. Palsgraf

i. Cardozo

1. No duty to P – outside danger zone

2. Responsible for only ppl in zone of danger

ii. Andrews

1. That negligence is a relative concept and proposed that every one owes to the world at large the duty of refraining from those acts that may unreasonably threaten the safety of others.

2. Liable to everyone for your negligence

c. Wagon Mound I

i. Only responsible for things that are reasonably foreseeable and probable. 
ii. Over rules Polemis, the injury has to be reasonably or naturally/ probably foreseen for you to be liable. 
iii. It wasn’t probable
iv. This wasn’t foreseeable
d. Hughes v. Lord Advocate

i. Type of injury foreseeable but method was not. Still liable
e. Doughty v. Turner Manufacturing

i. Injury foreseeable, method was not. But it was the time lapse that added an unforeseeably aspect and he may have been outside the zone of danger
f. Kinsman

i. All the ships crashing into everything, ended at bridge
ii. You are responsible for the forces unleashed by your negligent act
g. Wagon Mound II
i. If there is ANY forseeablity of damage, then negligent, and liable 

ii. The reasonably foreseen, probable doesn’t matter. 

6. Argue
a. Type 

i. Injury type was foreseeable

ii. Probably has the most strength

b. Method  

i. Reasonable method that created the injury doesn’t have to be exactly foreseeable

ii. Exception – lid falling into cauldron – key is that time had passed

c. Extent

i. You are responsible for the full extent of the injury

d. Forces Unleashed

i. If you put some type of force unleashed you are responsible 

e. Danger Zone

i. Ex. Palsgraf – not in the danger zone

ii. Can also argue Cardozo’s version which was no duty to P

v. Intervening/Superseding causes

1. Defenses to Causation
2. Intervening Causes:  A force which takes hold after the D’s negligence and which contributes to that negligence in producing the P’s injury

3. Superseding Cause: May prevent D from being liable.  Cancel the D’s liability b/c it is found that the intervening cause sufficient to prevents the D’s act from being the proximate cause of the P’s injury.

4. Superseding rarely works, but might if:

a. Bizarre, unforeseeable events

b. Criminal acts (but not if the person who is negligent was supposed to be preventing that criminal act, e.g. mace manufacturer)

c. Intentional torts

5. If simultaneous then superseding cause doesn’t matter – one does not supersede the other

f. Plaintiff’s conduct

i. Contributory negligence

1. If P was negligent at all (even like 0.001%), he cannot recover

2. Defense - - argue that P’s negligence wasn’t a cause in fact (substantial factor would have to apply) or proximate cause of his injuries

3. Last clear chance – always talk about last clear chance as a defense when arguing contributory negligence (contributory neg. is the only time LCC really applies!!!!!!)
a. Rule: - D saw or should have seen the peril in time to avoid the risk

i. D Should have known or knew the P was acting negligently

b. Doesn’t apply when it’s a helpless P and a helpless D) – P doesn’t see D’s peril in time and D cant escape P coming in time (bottom page 13)

c. LCC is asserted by P – never answer on MC – P cant recover b/c he had LCC or D can assert the claim of LCC 

4. Butterfield v. Forrester
a. P riding horse and trips over D pole. He was contributorily negligent b/c he was riding too fast

5. Smithwick v. Hall & Upson Co.
a. Ice house – P was negligent but the injury was unrelated to his negligence (wall falling) so he could recover

ii. Comparative negligence

1. Pure comparative negligence

a. If P was 99% negligent, he can still recover his 1%

2. Modified comparative negligence – cap on how neg. a P can be

a. If  >50% neg. P cannot recover

b. If tie 50-50, then two different rules:

i. West Virginia/Bradley rule – tie to defendant

ii. Wisconsin rule – tie to plaintiff   (this is TX too)

3. Last clear chance –for the most part LCC is absorbed into comparative neg.

a. Mention the cts are split on whether it still applies for comparative negligence

b. If I had the last clear chance to avoid the injury, and I don’t, I am liable

c. For the most part, this would just make the person w/ the LCC have a more neg. % added to them. (So if say, might be 50/50 but D had LCC, might make D have greater % and P can then recover?)

iii. Assumption of risk

1. Express consent

a. Ex. Sign waiver

2. Implied consent – need 1) P knew the risk and 2) P voluntarily agreed

a. Primary implied

i. No duty rule!

ii. D has no duty of care to P – it is a complete defense, there was no duty and P assumed the risk

iii. Deals w/ standard of care

iv. No duty (not to be negligent) in the first place rule: (base ball game) or give warning that your brakes are bad when a friend borrows it

1. Problems with Primary is that 1M and 1% is more than 10k and 99% - thus it depends on damages (deters from bringing valid claims)

2. Consequence – everyone is a P

b. Secondary implied – usually absorbed by comparative neg.

i. D owes a duty of care to P

ii. D has a duty of care, but would otherwise be a breach of duty is waived b/c P assumes the risk

1. This is replaced by comparative negligence so their recovery is reduced by their comparative fault

2. Courts say P AOR only if P’s decision to encounter the risk was unreasonable

a. Reasonable = P risk falling into a construction hole but that entrance was the only way to his house – not AOR

b. Unreasonable = there was an alternate route and he was just too lazy

c. Pure v qualified – look on page 14

iii. Doesn’t exist so much anymore –comparative negligence

iv. Harold v. Grant

1. Guy on back of pick up trying to shot deer, he assumed the risk by his behavior
v. Auckenthaler v. Grundmeyer
1. Negligent in staying on the horse and brining the horse

c. Just b/c I may not be negligent doesn’t mean I am not liable if I assumed the risk

iv. Avoidable consequences/seat belt defense/mitigation of damages

1. You must seek medical care after the fact, to mitigate damages, and if you fail to do that then the D isnt liable for your further damages

2. Must mitigate your damages i.e. seek care, wear seat belt, etc.

v. Multiple Parties

1. Vicarious liability

a. D is held legally responsible for the tortuous conduct of another who is the one actually at fault in causing the injury

b. Main type is employer-employee –employer responsible for employee’s torts

i. As long as it is w/in the course of employment, if not, then not liable

c. Permissive use- I loan you may car, you crash it, I am responsible for your negligence (family purpose doctrine – If I loan my car to a family member. Some courts are if you lend it to Anyone!)

d. If A is vicariously liable for B, and B torts C, A has to pay the bill for C. 

i. A can seek indemnification from B for what they paid to C.

2. Joint Enterprise

a. The P sues more than one D in which more than one party has allegedly caused P an indivisible injury – liability is said to be joint and several

i. ex. Summer v. Tice

b. 1. An agreement, express or implied, among the members of the group

c. 2. A common purpose to be carried out by the group

d. 3. A community of pecuniary interest in that purpose, among the members; and 

e. 4. An equal right to a voice in the direction of the enterprise, which gives an equal right of control

3. Indemnity

a. Involves the right of one held vicariously liable for the acts of the primary tortfeasor to be indemnified by the primary tortfeasor for all of the damages paid to the P. Contribution involves the right of one D, who has had to pay a judgment to the P, in a joint and several liability situation, to recover some portion of those damages from the other joint tortfeasors

b. Ex. Employer is sued by P for its employee’s tort, and has to pay P. Employer can sue employee for the full sum it had to pay

4. Imputed contrib. negligence/comparative negligence – “both ways” test

a. Impute – if joint tortfeasors you can impute ones negligence onto the other, making them negligent as well

b. Man and wife on motorcycle. Bus turns sharply and they crash into it. What happens if the wife sues the husband?

i. Both ways test - if we impute his damages to her, her recovery is abolished

ii. Another way to impute – if they hit someone who is injured, and they sue both, they would hold wife also responsible for husbands negligence. the both ways test said that if we impute negligence to her when she is a D, we should do it if she is a P. 

iii. Watson abolished it for automobile accidents – so if the husband is negligent, his wife will not be held negligent as well. 

iv. Only works if the passenger Owns the vehicle

c. Few situations were a person can be your agent, and if they are negligent, they can impute you to bear responsibility

5. Joint and several liability (Deals w/ Ds)

a. You have some kind of harm that is indivisible, i.e. you cant divide it up.

b. You have three ppl you can sue, two of them are broke, the other person has to pay the full amount. (even if they were only 33% negligent or something) – but then you can receive contribution from the other Ds (see below) but this doesn’t affect P.

c. The point is to make the P whole (Protects P)

d. Settlement:

i. If P settles w/ one of the three D settles for say 25% of the settlement, the other two D will have to split the remaining 75%. (And if D1 ends up paying more/less than his share, that’s the risk of settling.)

e. EX: J & S liability – 

i. 100,000 total in damages

ii. A liable for 20,000, but settles for $5,000

iii. B and C liable for 80% only, so only has to pay $80,000   even though P was out $15, 000 for settling w/ A

iv. If B ends up paying the whole 80% amount, B can seek contribution from C, but not A since they have already paid.

v. Whatever A pays doesn’t add or subtract from the settlement  - so if A settled for say $500,000, then B and C are still liable for 80% of the 100,000

f. Several
i. Different b/c B and C only ever responsible for 40%

6. Several liability

a. Only responsible for your proportion of the damages. i.e. if I was 33% negligent, and the other two D were too. And they are broke, I only have to pay 33% of damages.

b. P absorbs the loss (Protects D)

c. Ex. In Georgia, if the P is at all negligent and there is comparative negligence, then joint and several liability disappears. Pay attention to what juris you are in, b/c sometimes they use comparative negligence w/ joint and several and sometimes they don’t. 

7. Contribution

a. Three D all 33%, if only one person pays the whole thing, that one D can go to the other two Ds and get their portion of the damages from them. (66%)

b. You getting the money back from co-D and can’t get the full amount back (only what the full minus your share of the damages was)

8. Group liability (Mkt Share theory)

a. Substitute for cause in fact

b. You are liable for the amount you participated in the market. Pretty much only used in DES cases

c. Sindell v. Abbott Laboratories

d. If D can prove they had no share of that market, they can get out.

IV. Strict Liability
a. The imposition of liability on a party without a finding of fault. P needs to prove only that tort happened and D was responsible (P can recover even if D used utmost care - liable absent proof of fault)
b. Still have duty, breach, causation, damages, but your duty is just not to do the bad thing – by doing the bad thing you are breaching your duty

i. Just b/c you are not SL, you may still be negligent!!!


c. Animals - Be sure to specify which category the animal falls in

i. Livestock – possessor of livestock is strictly for “foreseeable” damages caused by trespass of the animal onto another land

1. Exceptions: 

a. Animals going astray while driven along the hwy – you are only liable b/c you have a duty to quickly retrieve

b. If the jurisdiction has a fencing out statute – P can only sue if he had a fence that D’s animal broke down

c. Unexpected force of nature, action of another animal, intentional/reckless/negligent conduct of third person

i. These are superseding causes that you have no control over – ex. lightning or car wreck destroys fence.

ii. Domestic animals – that are devoted to the service of mankind at the time and place in which it is kept

1. In order for domestic animal to be strictly liable, must be more dangerous than other species of its breed/type AND

2. The owner must be on notice that it is abnormally more dangerous.

a. Note: some animals like monkeys will never be considered domestic bc never devoted to service of mankind

b. If its questionable if animal is wild or domestic – argue time and place.

c. One bite rule – not required – if there has been a bite you have been put on notice

i. So, if animal has bitten – you are on notice

ii. Also, if animal has not bitten, but is vicious, you are on notice that it is abnormally dangerous

d. Defense to SL of domestic animal: you were not on notice (you had no idea and no reason to know).

iii. Wild animals – if you harbor a wild animal, you are strictly liable for ALL damage that results from a “dangerous propensity of that species” Ex: (Lions bite)

1. Defense: that you didn’t realize the animal’s dangerous propensities

a. This will be shot down bc the owner’s knowledge doesn’t matter for wild animals

2. Defense 2: that you did everything in your power to prevent the escape of that animal

a. This will also be shot down - doesn’t matter at all

iv. Defenses against SL claims for Animals:

1. D can argue comparative fault of P, but this does not apply in SL – say this in one line and then dismiss

2. Assumption of the Risk – secondary/primary?

a. If D warned of the danger (i.e. performed his duty) but P still goes through w/ it, P assumed the risk

i. Ex. If D warns his dog bites, but P still puts his hand out, he assumed the risk and D not liable

3. Harm done to trespassers (no duty to trespassers)

d. Abnormally Dangerous Activities

i. One who carries out abnormally dangerous activity is SL for any damage that proximately results from the dangerous nature of the activity

ii. Factors for determining in activity is abnormally dangerous – no single factor or combo need be present – case-by-case basis

1. Activities that involve high degree of risk of some harm

2. Likelihood that if harm does result, that harm would be great (is the L in hands formula really great?)

3. ** most important – Posner’s fave** The actor’s inability to eliminate the risk by the exercise of care

4. The unusualness of the activity – was it common usage?

5. (Trial cts fave) - The inappropriateness of the activity to the place in which it was carried out (shooting a gun but it was in a secluded field)

6. The extent to which the value of the activity to the public is outweighed by its dangerous attributes

iii. Examples of ADA:

1. Blasting, nuclear power plant, viral research, transporting of flammable or toxic liquids (fire is not abnormally dangerous thus needs negligence)

iv. Additional Considerations: 

1. Coase Theorem – from economic perspective, similar to calculus of risk – benefit to D of doing the dangerous activity v. cost to D of the injury that may occur

2. Cairns Rule- if D’s use their property for any purpose which is non-natural, then they become SL for damages that result from that

v. Defenses to SL re ADA:

1. Did the harm that occurred result from the type of risk that made the activity abnormally dangerous (guaranteed multiple choice Q)

a. Ex: a truck carrying dynamite hits a person – not SL bc the risk of hitting someone is not one of the risks that make it abnormally dangerous.

2. There is a division of authority on whether the harm must be foreseeable and whether there is liability for harm caused by the activity carried on pursuant to public duty.

3. AOR (foreseeable since you lived next to that place) – (sign that says blasting keep out or trespassing at zoo)

4. Comparative negligence is not a defense to SL – most jurisdictions say it is not but others allow it.

V. Products Liability – the liability of a seller of a product – “defects instead of duty”
Prima Facie – 1. Defect 2. Causation 3. Damages

a. Usual Scenario: A product will be sold and someone will be injured when the product doesn’t perform the way the consumer (broad def.) would expect it to.

b. 3 theories of recovery – contract issue, strict product liability, negligence (ARGUE ALL THREE)

i. Products liability is just one of three arguments if there is a product invleved that hurts someone

1. Can argue, negligence, contract base remedies – express and implied warranties, and products liability

2. So if you see a potential products liability argue ALL THREE!!!!!!!!!

3. You can sue multi. Ds, ex. retailer, manufacturer, etc. 

4. Can sue under different theories – ex. manufacturing and design defect

c. First Theory - Contracts Based Remedies

i. Express Warranties – product fails to live up to explicit statements D has made about it (distinguished from puffing)

1. Ex: “doesn’t cause drowsiness”

2. Ex: picture or model could be express warranty, but can argue not exact model

3. Note: can also sue for misrepresentation

ii. Implied Warranty of Merchantability – goods must be fit for the ordinary purpose for which they are used – this is against just the retailer?

1. Person must be in business of selling those goods and privity is needed

2. Ex: Allergic reaction does not apply – goods still fit for the ordinary person

iii. Implied Warranty of Fitness for a Particular Purpose – D knows of specific requirement by P and makes a recommendation of a model that doesn’t conform

1. Can still have this and merchantability

2. To be merchantable, goods must be properly labeled

3. Privity is needed

4. Disclaimers – “as is” – will cover implied warranties but may or may not cover express warranties
iv. Exclusion/Modification of Warranties – you can disclaim warranties

1. Henningson v. Bloomfield Motors p. 694

2. Note: cannot recover under tort theory for purely economic loss

d. Second Theory – Strict Product Liability  (Bulk of PL answers) 

i. Prima Facie = D Must: 1) be a seller,  2) be in the business or selling products of this type, 3) the product must be defective 4) product must not have substantially changed in condition since it left the custody of D,  5) P must have suffered personal injury or property damage (not just economic loss (= warranty)  6) Causation from the defect 

ii. Ask: Was the product defective?

iii. Manufacturing Defect – product departs from intended design even though all possible care was exercised and the product is now unreasonably dangerous

1. General design is good, but the one particular product was defective

2. In order to make out a claim of manufacturing defect the plaintiff must allege and prove that the product was unreasonably dangerous by virtue of a manufacturing defect - that is that it was delivered to the plaintiff in a manner that did not conform to the product’s design. This PL c/a looks most similar to strict liability, whereas the other two theories are more of a negligence hybrid. In this sense, if the hip was manufactured defectively, it does not matter how careful Biohip was in testing or assuring safe production. Strict liability cares not for fault.

3. In this sense, the c/a looks somewhat like a res ipsa claim, although res ipsa is typically used as an evidentiary short cut in negligence, not SL, actions.

4. Under a SL theory, the negligence of others is not relevant - SL is applied in manufacturing defect cases because of the policy decision to include this type of liability into the cost of doing business.
5. Plaintiff’s failure to exercise due care, if true, is not relevant in a SL c/a.

6. In any case, plaintiff will have to show by a Preponderance that the manufacturing defect caused the injury - difficult if P only has at best circumstantial evidence there of, and without more info from experts, the causation element will be difficult to carry.

iv. Design Defect – most commonly tested types of defects – 

1. Rule: foreseeable risks of harm posed by the product could have been reduced or avoided by the adoption of a reasonable alternative design by the seller or other distributor AND they didn’t do it, AND their failure to do so renders the product not reasonably safe.

2. To win on defective design, must show under risk/factor test, AND availability of reasonable alternative design

a. Reasonable alternative design:

i. There must be an available safer design, not just an alternative one (if cost-effective technologically available safety feature – think Learned Hand)

ii. Custom – just bc everyone does it this way does not make it ok

iii. Defense: State of the art – new technology not around/cost effective

iv. Not a valid defense: product was unavoidably unsafe and there was no more we could do to detect the danger

b. Risk benefit test:

i. Usefulness and desirability of product

ii. Safety aspects of the product – likelihood that it was cause injury and seriousness of injury

iii. Availability of a substitute product – reasonable alternative design

iv. Maunfacturer’s ability to eliminate unsafe character of the product without impairing its usefulness or making it too expensive

v. User’s ability to avoid danger by the exercise of care in the use of the product

vi. User’s anticipated awareness of the dangers inherent in the product and their avoidability b/c of general public knowledge of condition of product or suitable warnings (consumer expectations test falls under this)

vii. Feasibility, of manufacturer, of spreading loss by setting the price of the product or carrying liability insurance.

c. Exceptions: 

i. if its utility outweighs its guaranteed risks to some people (prescription drugs)

ii. if product became defective after it left D’s hands (defective from bad shipping)

iii. Crashworthiness test: manufacturers only need to plan for the intended ways the product should be used. Accidents are foreseeable, thus car/motorcycle manufacturers must make vehicles crash-worthy.

1. Must protect users from foreseeable injuries

d. Bell may also argue that the hip he received from Biohip was unreasonably dangerous by virtue of a design defect.Plaintiff must show all the same elements enumerated above, and will look to the nature of the product’s design to show the product’s defectiveness.

e. Under a risk/utility analysis - the question will be whether the risks posed by the hip’s design are reasonable in light of the utility of the hip. There are a number of factors to be considered in making the risk/utility analysis, including the product’s usefulness, its safety, availability of substitute products or designs/materials, feasibility of making the product safer without raising its cost too much or significantly diminishing its utility, obviousness of the risk to the consumer and/or ability to minimize risk with warnings, and finally the availability of spreading the costs of a more pricey design among consumers or through insurance.

f. In addition, plaintiff will be required to produce or persuade the fact finder that there is a reasonable alternative design - and that this design must bear a favorable safety/cost/utility ratio.

v. Warning/Marketing Defect – Failure to Warn

*watch for something on exam re labels

1. Extra obligation – warning will not disclaim a manufacturing or design defect

2. Two types of warning cases:

a. No warning – no need to warn of obvious dangers (scissors are sharp)

b. Inadequate warning – substance wise or presentation of

3. No need to warn of obvious dangers but need to warn of possible inappropriate uses – generally all risks, no matter how small, must be warned of

a. Ex: dry cleaning bags will suffocate if put over head.

4. Causal issue – P can’t win on warning theory if he already knew about the issue; wouldn’t have changed his behavior

a. Defect, not just product must have caused P’s injuries.

5. Defenses: 

a. Assumption of the Risk – you assume the risk when you continue to use product you know is defective

b. Danger wasn’t knowable at time of manufacture

6. Under this theory of recovery, a product that has significant social utility, and which carries with it certain risks, can minimize, if not eliminate, those unreasonable risks by providing either instructions on use or warnings to the consumer. In this sense, the mfr transfers to the consumer the risk/utility information and s/he then decides for him or herself whether to use the product.

7. The default rule that the mfr must communicate these warnings to the consumer is excepted where the product is delivered to the consumer through a learned intermediary (LI)- such as a doctor prescribing medication, or here, implanting a prosthetic device. When the learned intermediary is given complete warnings about the risks inherent in the use of the product, the intermediary can than filter, adjust, and translate those warnings to the patient in light of the particularities of the patients’needs/vulnerabilities/conditions. The learned intermediary bar to mfr liability for warning the consumer of risks is not engaged, however, where the warnings provided to the LI are inadequate.
e. Third Theory – Negligence

i. General negligence analysis

f. Defenses 

i. Plaintiff’s Behavior

1. Movement from contributory negligence to Comparative Neg

a. Old rule was contributory negligence would not preclude P from recovery if product was defective

i. Failure to discover or guard against a product defect

1. Doesn’t affect P recovery

ii. Assumption of the risk

1. Does affect P recovery

iii. Negligent use of a product

1. R3T – should not affect P recovery

b. New rule w/ comparative negligence, Crts hold it does apply and reduces P recovery

c. If a P discovers defect but continues to use anyway, AOR – Complete Defense

i. Most courts have abolished Assumption of the Risk Secondary Implied

2. Apportionment in crashworthiness cases

a. Daly case – P was drunk and not wearing a seat belt. Was in a collision. In the collision, the door, defectively, opened and P was thrown out and killed.  Which part of his negligence are relevant in his case?  Failure to wear a seatbelt was directly linked to the injury. If he had worn the belt he woudnt have been thrown from the car.  Drunkenness is probably not relevant to his negligence however.
3. Failure to Discover a Defect

a. Some crts refuse to apply comparative responsibility when Ps only fault is in failing to discover or guard against a defect in the product

4. Assumption of the Risk and Misuse

a. Some crts have kept this as a complete defense, bars P from all recovery

b. Some crts have held that misuse of produce is a complete bar to recovery 

i. Crts say really not a defense but a failure by P to show either causation or defect

5. Third Restatement - pg. 987

6. Bankruptcy

a. Not a defense, but increasingly used by corporations facing massive product liability claims

ii. Pre-emption

1. Implied Pre-emption depends on:

a. What congress or an agency was up to when they created w/e legislation, And 

b. If P wins this suit on this theory, will this somehow frustrate or impeed what the congress was up to. 

i. Must answer both these questions to determine if it is preemption. 

ii. Concept in most implied pre-emption 

c. Geier v. American Honda Motor Co pg. 798

i. Car had no airbag, P brought suit. Federal law gave an option for a variety of different safety devices that must be installed in a car. But not all of them had to be. 

ii. Rule: When the rule of law for which petitioners contend would stand as an obstacle to the accomplishment and execution of the important means-related federal objectives, it is pre-empted.
iii. Crt said that Act allowed D to do one or the other and to allow P to win on this case would frustrate this purpose

2. Impossibility pre-emption –

a. If the gov. passed a law that says one thing and the state passes a law that says the exact opposite. In this case, the fed. Rule wins and p could not win under state law b/c it would frustrate the fed. Purpose

3. Third type of preemption

a. Pre-emption that applies when the crt says that it has “occupied the field.” i.e. No room for state laws to apply. Ex. Nuclear regulatory agency, and there is no room for the states to do anything b/c it is thoroughly covered by the fed law

iii. Compliance w/ Regulations

1. Essentially negligence per se – failure to comply w/ regulation is almost “certain death” i.e. defective 

2. Compliance itself does not necessarily mean that the product wont be defective, only used to show that it might not be defective

3. TX only talks about compliance w/ the federal regulations but creates a presumption that it makes a product not defective

a. Colorado statute similar to TX but allows state regulations to be used too. Has 10 yr statute of repose

4. Statute of repose – after X yrs after the product has entered the stream of commerce, you cannot sue on it – tx has this too

iv. Government Contractors

1. You cannot sue the fed itself b/c of sovereign immunity. 

2. So you go around the US and sue the manufacturer

3. In many cases the crt has created a government contractor defense

a. As long as the gov. approves the design and the product conforms to this design, and the manufacturer warns of any defects in the design, the manufacturer is given immunity

g. If anything about EU or Japan, pg. 811 book, and pg 150 notes

VI. Damages - Nonfatal
a. Types of Damages:

i. Nominal

1. Awarded when a particular legal wrong has occurred –such as an intentional tort- and when no actual injury has resulted or when a injury cannot be proved. 

2. Purpose is to symbolize or declare that a right has been violated

3. Normally cannot be given for negligence alone, need intentional tort

ii. Compensatory

1. Thought to compensate only for a persons actual harm or injuries, and not to punish the D

2. Designed to put the P as far as money can do, into the position the P would have occupied if the tortuous wrong had never occurred

a. General Compensatory – Non-Pecuniary– Hard to compute and very subjective (Pain and suffering, loss of future earnings capacity)

i. This is what pays for the American Tort system (pays for contingency fees)

b. Special compensatory – Pecuniary– Hard objective numbers – (medical expenses, past lost wages, out of pocket expenses) – usually there’s even a receipt. 

c. Types- medical/rehabilitative, lost earnings capacity, phys. pain and suff., mental anguish, imparment/diability, disfigurement

i. Wont get pain and suffering if you are in a coma (designed to compensate and can’t compensate if you aren’t in any pain)

ii. Lost earnings CAPACITY – so if you are a Dr. in the Peace corps then you will receive a regular Dr’s salary

iii. Life expectancy is big too.

iii. Punitive

1. Awarded to punish the D for malicious, outrageous, or highly reckless conduct, and to deter the D and others form engaging in similar conduct in the future 

b. Two Categories of Compensable Damages

i. Economic

1. Losses to you person

a. D only has to pay for life expectancy post-injury/accident, not pre-accident, for future medical bills plus past medical expenses

2. Losses to your earning capacity

a. You should be allowed to recover not your earnings, but your earning capacity. I.e. if I had the ability to earn a certain amount of money, I should be able to recover, and determined it from your pre-injury position

b. Some jurisdictions say you have to prove that you could have made that much money but others do not

c. Justification for giving earnings capacity is best understood in comparing it w/ how we plan to pay for medical bills etc

d. Ex. A stockbroker will make more over his lifetime than a janitor, and thus will receive more damages for a similar injury to the janitor. Might not be fair but it’s the way the system works. Do not take into account gender or race however (even though men make more than women, and blacks less than whites)

3. Loss of Consortium –see below

ii. Non-economic

1. Per Diem (certain amount per day) – Golden rule (how much would YOU want if you were in P’s position) – willingness to pay to avoid the injury – Golden rule and per diem are criticized b/c they ask the jury to take sides. Can’t use golden rule period.
c. The interaction of Damages w/ Liability - pg. 825

i. Two primary variables are damages (stock broker = more money v. janitor = less) and liability (what’s the chance I will win this case?)

ii. A weak liability high damages case might have a roughly similar settlement value as a strong liability weak damages case

iii. The expected values of both sides have to be reasonably close in order to settle. Don’t have to be the same b/c there are costs that both sides will save by settling. But it will only happen if ppl agree about the value of the case.

d. Lost Earnings

i. P entitled to recover for his lost earning capacity in the past, and for the present value of his lost earning capacity in the future – pre-injury (i.e. As if injury had never occurred) 

ii. Calculating lost earnings and earning capacity involves:


1. The Ps earning capacity before the injury

2. The degree to which the injury has diminished the Ps earning capacity

3. The period over which this diminished capacity will be experienced, which involves considering the Ps life expectancy and work life expectancy

e. Collateral Source Rule

i. The doctrine that prevents a D form introducing evidence that the P has received compensation from independent sources for the damages he is seeking.

ii. P may recover both from the independent source and from the D

iii. Recently many stats have begun to abolish or substantially curtail this rule

f. Duty to Mitigate Damages

i. Doctrine of Avoidable Consequences

1. Failure to take proper care causing aggravation of injuries, such as not wearing a seat belt

2. D not liable for further injury if you didn’t try to mitigate and were injured further

g. Loss of Consortium pg. 855 in book

i. Family members may have loss of consortium damages for injured family member

1. Husband-wife

a. Virtually all juris allow spouse to seek several specific items of damages:

i. Loss of companionship and society

ii. Loss of household services

2. Child’s loss of consortium and services resulting from injury to parent

a. Child can seek damages for injury to parent

3. Parent’s loss of consortium and services resulting form nonfatal injury to child

a. Most juris do NOT allow parents to get damages for consortium for injury to their child

b. Roberts v. Williamson – parents could not recover for the loss of filial (relating to child) consortium

h. Loss of Enjoyment of Life

i. McDougald v. Garber
1. P suffered sever brain damage b/c negligence of D

2. Cannot award damages for loss of enjoyment of life if you are not aware of the loss

VII. Wrongful Death  

a. Statute – creates a cause of action for certain designated relatives (usually parents, children, and spouse) for the injuries that the decedent’s death has inflicted on them

i. Damages recoverable under WD include any or all of the following:

1. Financial contributions that the decedent would have made to the beneficiary had the beneficiary lived a normal life expectancy (such as wages that decedent parent would have spend in feed, caring for, and educating the child)

2. Services, acre and advice of a pecuniary nature that the deceased would have given to the beneficiary

3. Beneficiary’s loss of companionship and society of the decedent

4. Grief and anguish experienced by beneficiary over death

5. Loss of the inheritance that beneficiary would have received if decedent had lived normal life span

a. TX allows all of these; juris vary on what they allow

6. Damages paid to beneficiary are NOT subject to creditors

b. Survival statute

i. Refers to the claim filed by the estate of the decedent for the legally compensable losses that the decedent has suffered

1. Some or all tort claims survive the death of the tort victim and become an asset of the estate – regardless if the tortuous wrong caused the death

2. Typically recoverable damages include

a. Pre death conscious pain and suffering and mental anguish that the decedent experienced

b. Medical expenses caused by the injury

c. Pre-death loss earnings caused by the injury

d. Funeral expenses

3. Damages paid directly to the estate ARE subject to creditors

Damages in general – talk about nominal for intentional torts, then move on to damages for neg., SL etc
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